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18,676
8,004

EUNE

01 A& HI 26,680 80,200 A 53,520
S2A FEEHIAY £H S
6,400,000& * 14l 6,400

4,480
1,920

M H

oge

oo

n FHIHALY ZAHE S

14,300,000& 14 14,300
10,010
4,290

M

O

Yot DYUSHEM BEH &KX Sy

4,000,008 * 14! 4,000
2,800
1,200

M

OgY FEHUSHA =HZH £HEAHI
1,980,000 = 14 1,980

1,386
594

EURLY

402 2IZ2tXt=01& 296,520 227,600 68,920

207,564
88,956

Mo

ES 296,520 227,600 68,920

HIAFS 73,600,000& * 14! 73,600
51,520
22,080

OgEd FHIFHAEY 8,000,000& = 14 8,000
5,600
2,400
Ogden FHFHIAY 115,700,000& = 14! 115,700
80,990
34,710
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M REESM BE
o2l 2 ME=L 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZYg FEUSHA 2H EEXe
36,000,000& * 14l 36,000
< 25,200
s 10,800
Oy REUSHA 22X FHEL|
20,020,000& * 14l 20,020
=3 14,014
s 6,006
OZg 0l =8I 43,200,000& = 14l 43,200
< 30,240
[ia 12,960
SEFSRL B HH| 425,175 500,000 AT4,825
= 22,725
< 22,725
[ia 379,725
201 Let2d] 68,175 0 68,175
= 22,725
< 22,725
e 22,725
01 At 22l 68,175 0 68,175
O=ZstM SEAY Sg2el
68,175,000& * 14l 68,175
= 22,725
< 22,725
= 22,725
307 21201 A 57,000 0 57,000
02 QB AAFEX 57,000 0 57,000
OZ&o AA 57,000,000& * 14 57,000
402 2I2H X201 M 300,000 300,000 0
01 It =2 AP E X 300,000 300,000 0
OHERssaME=FH  300,000,000& * 14 300,000
NEEZs |X2e 55,625 54,085 1,540
101 @144 Hl 21,885 21,885 0
04 JIZHHZ2XEE S 21,885 21,885 0
O23d=" M=z 12,675,000& * 14 12,675
OZgsd M=y 9,210,000& = 14 9,210
201 ¢er24| 7,340 9,100 A 1,760
01 At 2t 2l 4,580 3,580 1,000
Ofget=&dl] 4,580
OC=23MIIE BE& N2 270,000& * 63 1,620
OBERFRMNAIANE BHLY
70,000& * 4% = 73| 1,960
O2AHZ Al E23 3l 1,000,000 = 13l 1,000
02 2324l 2,760 5,520 A 2,760
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o222 % HAll 2,760
OEIUAMNLSIRB(EI &4+ MatS)
120,000 » 1A « 12& 1,440
O=X=2sMEs It EH HH=
110,000 * 1202 1,320
202 044l 3,600 300 3,300
01 SLHOIYI 3,600 300 3,300
OX&E=2stM 2eltddl 20,0008 » 321 = 602l 3,600
301 et a 3z 2,800 2,800 0
09 SAAHIE &S 2,800 2,800 0
O AHE M2 X239 MG
70,000& = 82! * 53| 2,800
401 AIEHI L 2CHEI 20,000 20,000 0
01 A& Bl 20,000 20,000 0
O[AI&HI] 20,000
OARIISM EFHI
10,000,000& * 2J0H £ 20,000
DIJt= =Jt01d 20| 30,000 21,000 9,000
= 21,000
< 2,700
s 6,300
402 RI2FX=01 M 30,000 21,000 9,000
= 21,000
< 2,700
s 6,300
01 It 2 AL E X 30,000 21,000 9,000
OZg &SI =IH01G D]
30,000,000& * 14 30,000
= 21,000
< 2,700
e 6,300
SREXIESM ZAILSBHXIALS 94,537 116,848 A22,31
= 47,267
< 19,088
[ia 28,182
101 @144 Hl 92,737 114,448 A1, 711
= 46,367
< 18,548
s 27,822
04 JIZHHZ2XREES 92,737 114,448 A1, 711
Oy 79,234,200 * 14 79,235
= 39,617
< 15,847
[ia 23,771
OEl&= 6,602,850& * 14 6,603
= 3,301
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< 1,321
s 1,981
Os&8x 6,898,950& * 14 6,899
= 3,449
= 1,380
= 2,070
201 Let24d]| 1,800 2,400 A 600
= 900
< 540
[ia 360
01 At 22l 1,800 2,400 A 600
Olget+gHl] 1,800
o =2Z3dl 1,800,000 * 14| 1,800
= 900
< 540
s 360
=t HHEXAIAE 2F 233,100 99,600 133,500
= 163,200
i 69,900
307 21201 A 33,100 28,000 5,100
2 23,200
e 9,900
02 QB AAHEX 33,100 28,000 5,100
OX&SIIS YatBel8e L SHALRKD
2l X & 11,000,000& * 14 11,000
2 7.700
[ia 3,300
OZZAHERE =8 Yst2elsd L LdHAE
S22 XA 22,100,000& * 14! 22,100
= 15,500
s 6,600
402 RIZ2ER20l ™ 200,000 71,600 128,400
= 140,000
e 60,000
01 A=A EX 200,000 71,600 128,400
OZLE2ZA olE2 =8 MUHEMHAIE &X
200,000,000& * 14| 200,000
= 140,000
[ia 60,000
HEANE EFH 124,880 0 124,880
2 62,440
< 30,000
e 32,440
402 RIZER20l A 124,880 0 124,880
= 62,440
< 30,000
e 32,440
01 It =2 AL B X 124,880 0 124,880
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M REESM BE
o2l 2 ME=L 22 (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&EEA LIstE &3H 120,000,000 * 14! 120,000
= 60,000
< 30,000
s 30,000
OYUEA BMMAIAE SANES
4,880,000& = 14! 4,880
2 2,440
s 2,440
ot 24 4,010,371 7,745,822 A 3,735,451
Xl 520,000
J| 130,996
< 2,790
[ia 3,356,585
AL &= 2,180,887 5,889, 135 A 3,708,248
Xl 520,000
[ 1,660,887
HEAE X 2 Fl 192,376 141,864 50,512
401 Al HIZ 2018 192,376 141,864 50,512
01 A& HI 191,000 141,000 50,000
OMS3d 2 SUMSAE 2=+
2,000,000 * 11004 22,000
OHEMSsAE &X 14,700,000& * 1090 & 147,000
OZd 2322 0I223J17 AX(=UEA
&h) 12,000,000& * 14 12,000
OstaE A AIOIE 23017 X (Z=2UE0 0L
10,000,000& * 14 10,000
03 Al 2 0HHI 1,376 864 512
OdEHMSALELER Al 20
191,000,000& * 0.72% 1,376
S-9% AHOESH &X ¥ FHl 100,900 5,000 95,900
401 AIEHI L 2 CHYI 100,900 5,000 95,900
01 A& HI 100,000 5,000 95,000
O[AI&HI] 100,000
OANOIE=ZSE FH ¥ |RXE
10,000, 000OJ * 1004 & 100,000
03 AlE R THHI 900 0 900
O[AId=20l] 900
OHNOIE=ZEEE € |RAE+ A4 20HI
100,000,000& * 0.90% 900
SZUHSHHEZ2 Y 567,913 0 567,913
101 124 dl 143,330 0 143,330
4 JI12ZtHZ2REE+ 143,330 0 143,330
Ox=GZAH(HAA 3H) 212 79,207
oJleas 60,000& = 321 262 * 123 56,160
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FM: HsdE 84
@2 MSAE 25 (chel & 9l)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
(ORJC= 533,300& =« 3¢l 1,600
Oxs=¢ 60,0003 = 321 » 52 9,360
(ORGP 60,000& = 321 » 20 3,600
O4U2E = 70,720,000& * 12% 8,487
OIMSHH R 21,375
oJlzg 48,2403 * 121 = 26 » 12& 15,051
o403 800,000& = 1@l 800
OxFs=¢ 48,2403 * 121 * 52 2,509
OdXg 48,2403 * 121 » 15 724
O4tHEE & 19,084,000& * 12% 2,291
OZHsHH H202Y 42,748
oJlE= 48,2403 = 201 x 26 x 12& 30,102
(ORFSFOE=, 800,000& = 20! 1,600
O=xs=¢ 48,2403 * 201 * 52 5,017
(ORGPNEE= 48,2403 * 221 x 15 1,448
O4U2E = 38,167,000& * 12% 4,581
2Bt | 403,993
At 2t el i 40,800
O[get=&dl] 31,340
OB (U2, LaH, &)
300,000& = 12& 3,600
OxGEULIAZE(MA, &2A)
400,000& = 12& 4,800
oOXNszUH2ELAESFLY 70,0008 * 128 840
OEEEZdIIHE MZE 70,0008 * 4504 = 23 6,300
ocl=3 M 3,000& = 5,0000H 15,000
OZA == TI=H| 200,000& =« 40l 800
@I=3=1:1) 3,360
O Or2t2 2 Xt = &l
7,000& * 2001 * 2 » 12& 3,360
oleg+¢] 6,100
ogdg 50,000& = 121 » 122¢ 6,100
02 323l 363,193
Olz=22 % HAI 217,686
oag ¥ A= M2 3l
500,000& = 13l 500
Ot Zg HUHZH
1,000,000& * 13l 1,000
OXMIIUHMEH =2 500,000& * 123 6,000
o=2gd & =2 200,000& = 12& 2,400
oORELEa=LSsE 500,000& = 14 500
odMIIe=a 4,000,000& = 12& 48,000
OEAMNERES 750,000& * 23| 1,500
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3 sNtg 24
ool MSAL =5 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
oFAESMYIIEE 750€ * 500& * 12€ 4,500
O&dl=ER=2 2,150,000& = 128 25,800
OL&EIANEEE 200,000& * 23] 400
O2YIAHEL =3 1,500,000& * 13 1,500
osSKe3 5,000,000 = 14 5,000
OYYRVUASHEH Q4AE2SS
118,786,000& * 14 118,786
O RoZHEY =2 150,000& = 12& 1,800
Ol 2dl] 145,507
Ox%H B2 AR
1,322.79& = 110,0004 145,507
206 M = dl 20,590 0 20,590
01 24l 20,590 0 20,590
cemsmBAHBE LS
11,000& = 15 = 128 1,980
Oxgd&Ed42LHP2Y 200,000 = 2038l 4,000
Oxd&dBdF 2P 500& * 700kg 350
OHEHIE MM 30,0008 * 60kg 1,800
OxHEUHEFZAAIZETZY 10,0003 * 15094 1,500
Ox=g&ZA22 A2 700,0008 * 14 700
Ox=g&EBXINEHFY 2,000,000& = 14 2,000
Ox=g&2dqdAHALI A2 72
2,000,000& = 14 2,000
Oxg&sdAI2sd 7Y
30,000& * 68 + 1201 & 2,160
OGAESHLAANPL 700,000& = 1CH 700
OdMdZXE0t0| 222 H 4,000& * 1004 400
O+ &ELA2A2IEIMNE 3,000,000 = 14! 3,000
MSES2IMEHH2F 345,698 2,739,184 N 2,393,486
101 2124 d| 42,750 0 42,750
04 JIZtHI2E2EXNSE 42,750 0 42,750
Olg2e JI2tH 22K 24 21,375
oJlE=2 48,2403 * 121 = 262 * 12& 15,051
oAM= 800,000& = 1¢@l 800
OxFxs=24Y 48,2403 * 191 = 52 2,509
[ORSNESS=, 48,2403 * 121 = 15 724
o428 = 19,084,000& * 12% 2,291
O["gac22] 21,375
oJlea 48,240 * 121 % 262 * 12€ 15,051
oAM= 800,000& = 1@l 800
OF&ExY 48,240 * 121 % 52 2,509
[ORSNESS= 48,2403 * 121 = 15 724
o4ti2g = 19,084,000 * 12% 2,291
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 302,948 0 302,948
01 At 22l 24,580 0 24,580
Oofget29l] 18,480
OFAME(Hl+= Z&H, &%, &2, AHM)
200,000& = 12& 2,400
OMESZUH2HAES Y 65,0008 128 780
OEE Ed3tE 70,0003 = 4504 = 23] 6,300
Ocl=aHM= 3,000& = 3,0000H 9,000
Ool2g=+¢] 6,100
ogX=g 50,000& = 191 » 122¢ 6,100
02 =24l 273,368 0 273,368
Ols=22 % HAll 273,368
oA S 2|l
500,000& = 13l 500
OAgONEEHUAFH 1,000,000 = 13l 1,000
oOMIIR3 4,000,000& = 12& 48,000
OR=1== D Pale = =1 750,000& = 23| 1,500
OFAEMYIISE 750% * 500& * 128 4,500
O4dt=ER3 1,260 = 1,500&€ * 128 22,680
O=H¢HIAZL =3 1,500,000& =* 23| 3,000
(OR-—FaEeA=] 5,000,000& = 14 5,000
02 RE= 185,388,000& * 14 185,388
O RoZH 9 ==& 150,000& * 12& 1,800
03 &Ar2 I 5,000 0 5,000
OdsSE=sd=sdH =34
,000,000& * 14 5,000
SE2sHE HES 754,000 0 754,000
Xl 400,000
i 354,000
207 Ao H| 170,000 0 170,000
X 51,000
s 119,000
01 289 170,000 0 170,000
OZLZTHEH2SE MHES=SAZLAHEHZTEY
170,000,000& * 14 170,000
Xl 51,000
s 119,000
401 Al HIZ 201 Y] 584,000 0 584,000
Xl 349,000
s 235,000
01 A& HI 575,200 0 575,200
OZASLE2SHEMNESMEX L
343,840,000 * 14 343,840
Xl 150,000
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3 sNtg 24
o2l MsSAE &5 (chel & 9l)
SN EB S (3H) - NBAY - B2 ofl &t o ﬁlf& HD=2
= 193,840
OYGUZBH2SEIME L2 ALA Al & H HI
50,000,000& * 14 50,000
Xl 15,000
= 35,000
OEAZBZE2SHINELZAIAIAH]
181,360,000& * 14 181,360
Xl 181,360
03 A& 2 0Hb| 8,800 0 8,800
OEAZBZAE2SHINELZAIELIY]
1,400,000,000& = 0.62857% 8,800
N 2,640
= 6,160
oggs MEMZAHOIESE A= 220,000 0 220,000
Xl 120,000
= 100,000
207 S0 30,000 0 30,000
Xl 9,000
= 21,000
01 A2 sS<H| 30,000 0 30,000
OYGUSHAZHOIEEHASZ A2 HEHA
=9 30,000,000 * 14 30,000
Xl 9,000
= 21,000
401 AlEHI 2L £ 0HY| 190,000 0 190,000
Xl 111,000
= 79,000
01 Al&H| 187,120 0 187,120
OYASHASHOIESZ 2 ALA Al & H Y|
30,000,000 * 14 30,000
Xl 9,000
= 21,000
OYASHAMSHOIESE Z2ALAI A
157,120,000& * 14 157,120
N 101,136
= 55,984
03 A& 2 0HH| 2,880 0 2,880
OSASHEZHOIESEZ ALY
400,000,000& * 0.72% 2,880
Xl 864
= 2,016
HE g4 1,434,002 1,598, 156 A 164,154
J| 130,996
= 2,790
= ,300,216
ME=E 2435 N 263,340 723,660 A 460,320
201 Bt 11,680 0 11,680
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oYl MBS S48

2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 %Eﬁ Hwsz
01 Ak 2rel 1,680 0 1,680
OAZZOIHY Vs &AL
70,0002 * 591 * 23] 700
Oggz ASHEHS 9 HALg
70,0002 * 791 * 23] 980
03 & At 2 bl 10,000 0 10,000
OBZHS #A 2€Hl 10,000,008 * 14 10,000
202 01t 4,060 4,060 0
NIERE 4,060 4,060 0
OFXZMEY S L WO O]
20,0008 * 301 * 18 1,080
OR4+6% L2 84 Ot
20,0008 * 301 * 38 2,280
OHMSAES ZA 018l
20,0008 * 101 » 352 700
301 LB A 157,000 154,000 3,000
VERESTT] 9,000 6,000 3,000
OAZZ0HE 218 EH 0yl
120,002 * 1501 * 53] 9,000
09 B AMAIHI 243 18,000 8,000 0
O2AZ HSBA BAHBA 1,500,002 * 128 18,000
002Ce - 2SS 130,000 130,000 0
OFIAAEI} THE 228 N
2,000,0008 * 2ES 4,000
OSUHE SEHSLL S4
1,500,0008 * 7% * 128 126,000
307 £12+0] & 80,600 80,600 0
04 DI AIAIRIE T 80,600 80,600 0
OZ22 4EHS 2455 N
30,000,000 * 14! 30,000
OXMSESH ZIIEH K& 42,000,008 * 14 42,000
ONZ HgLE ¥e 2,500,008 * 23l 5,000
OANZ MEWE %8 X 1,800,008 * 23 3,600
308 XX EHHI S0l & 10,000 485,000 A475,000
FESETTETES 10,000 485,000 A475,000
OB = SSD HS 24 2ABE3
10,000,0002 * 13| 10,000
SOHE KR 231,000 211,000 20,000
301 LB A3 35,000 35,000 0
IECEYE] 35,000 35,000 0
OFGAME &It MBS AMEES
35,000,00020 * 14! 35,000
307 £12+0| & 196,000 176,000 20,000
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04 DI2HHALALSE E X 196,000 176,000 20,000
OFGHAE It 26 &2 ¥ &4
80,000,000& * 14 80,000
OdEHMA &It &l 80,000,000 = 14l 80,000
OFLHNT 8RE+ |4 X8
36,000,000& * 14 36,000
MEHSRY 29 12,150 13,500 A 1,350
307 21201 A 12,150 13,500 A 1,350
02 YAFAANGFEX 12,150 13,500 A 1,350
OdaNs w2y 1,215,000& * 10&5=2 12,150
H=3 XA 324,512 194,304 130,208
J| 109,296
[ia 215,216
307 21201 A 324,512 194,304 130,208
J| 109,296
s 215,216
02 It S AHE L 284,512 194,304 90,208
OMENEXNEA wsSHl X
160,000& » 99 « 128 17,280
OMEXNSXNEA =22 X
80,000& = 99 * 128 8,640
OH2dEsxE st AZ=2Y XA
40,000,000& = 14 40,000
O et & X = Xl & XHHH XI AHE
2,024,000& » 5% » 12&8 121,440
J| 60,720
s 60,720
OZ oM EaX = Xl & XHEH XI AHY
2,024,000& » 4% » 128 97,152
J| 48,576
s 48,576
03 QIZtHNHE2HHEX 40,000 0 40,000
OZgzZH=ss 3" &I
40,000,000& = 14 40,000
AT IH ™A 31,000 33,692 22,692
J| 21,700
< 2,790
[ia 6,510
307 21201 A 31,000 33,692 A2,692
J| 21,700
< 2,790
s 6,510
02 IS AHE L 31,000 33,692 A2,692
OAZXHIRHAS 31,000,000& * 14 31,000
J| 21,700
< 2,790
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| o 6,510
d= ME2 dgial 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
Od= NEZ s&la &t
6,000,000& = 13l 6,000
Hdetgdes Hz2d MEd=sUs 12,000 10,000 2,000
307 21201 A 12,000 10,000 2,000
04 DIZFSHALAIRI B X 12,000 10,000 2,000
Odetgde HZ2 4 dEHsUHS &It
12,000,000& * 12l 12,000
ZOHQ M=03 X2 33,000 17,000 16,000
301 et a3z 5,000 0 5,000
TEEE 5,000 0 5,000
Odetgr ZoHe MEda L&k Las
5,000,000 = 14l 5,000
307 21201 A 28,000 17,000 11,000
04 QIZFHALAIH B = 28,000 17,000 11,000
Odctgd HoHe M=zl ot
23,000,000& = 13l 23,000
O(M)ZHOMQ 23tE3 Zoe MEBIHKHOE
2 532 U3 5,000,000& = 13l 5,000
detgE EaE S 5,000 4,000 1,000
307 glz2+ol & 5,000 4,000 1,000
04 QIZFHALAIH E &= 5,000 4,000 1,000
Odetgde #2448 S€Ue &t N&
,000,000& = 13 5,000
d= &9 Msia | 411,000 100,000 311,000
307 glz2tol & 411,000 100,000 311,000
04 DIZHHALALSE E X 411,000 100,000 311,000
02016 FE4HH Mg MEMS HEQEH
3 30,000,000& * 13l 30,000
02016 M=EHH O3l 198,000,000& = 13l 198,000
OHNbel Sz dEMs S *+2E8=x
3 EF03 23,000,000& * 13l 23,000
OM1sl 2=t 82 == OFUH2]
60,000,000 = 13l 60,000
OWCA 8=2REU3(1SER)
100,000,000& * 13 100,000
dXEdH & =5 s X2 105,000 150,000 A 45,000
307 glz2+ol & 105,000 150,000 A 45,000
04 QIZFHALAIH E = 105,000 150,000 A 45,000
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EX: S3t22 =10
HEM: ALY 4
e HSAE 89 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O NIl &Cl 2D S5
1,502.73& * 54 * 8AI2F » 10 602
OAUNMESS NSMHEHSE 24|
1,000,000 * 20 2,000
OAUHMEZ 3t&A dNHE 22|
100,000 * 6o & 600
OZ20g & WEI| SAEH|
200,0008 * 400 A 800
206 M = Hl 4,850 3,600 1,250
01 X Z H| 4,850 3,600 1,250
OAUM=2 X234 22 Mgl 72
600,000 * 14! 600
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